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lkekU; funsZ”k& 

1. ;g iz”u i= dqy ik¡p [k.Mksa esa foHkkftr gSA 

2. iz”u i= esa dqy 20 iz”u gSaA 

3. lHkh iz”u vfuok;Z gSaA 

4. dqN iz”uksa esa vkarfjd fodYi fn, x, gSaA muesa ls fdlh ,d dks funsaZ”kkuqlkj gy djsaA 

5. izR;sd iz”u ds vad mlds lkeus vafdr fd, x, gSaA 

6. [k.M *d*] iz”u la[;k 1 ls 6 rd izR;sd 1 vad ds gSaA 

7. [k.M *[k*] iz”u la[;k 7 ls 11 rd izR;sd 2 vad ds gSaA 

8. [k.M *x*] iz”u la[;k 12 ls 17 rd izR;sd 3 vad ds gSaA 

9. [k.M *?k*] iz”u la[;k 18 ,oa 19] izR;sd 5 vad ds gSaA 

10. [k.M *M+*] iz”u la[;k 20 ekufp= vk/kkfjr iz”u gSA blds nks Hkkx (A) vkSj (B) gSA ;g 
dqy 6 vadksa dk gSA ekufp= dks mÙkj iqfLrdk ds lkFk cka/kasA 

11. Ekkufp= vk/kkfjr iz”u Lka[;k 20 ds LFkku ij n`f’Vckf/kr fo|kfFkZ;ksa ds fy, vyx ls iz”u 
fn, x, gaSA 

General Instructions:- 
1. This question paper is divided into five sections. 
2. There are total 20 questions in this question paper. 
3. All questions are compulsory. 
4. There is  internal choice in some of the questions. Attempt only one of them as per the direction. 
5. Marks are indicated against each question. 
6. Section A, questions 1 to 6 are of 1 mark each. 
7. Section B, questions 7 to 11 are of 2 marks each. 
8. Section C, questions 12 to 17 are of 3 marks each. 
9. Section D, questions 18 and 19 are of 5 marks each. 
10. Section E, question number 20 is a map based question which has two parts (A) and (B). It is of total 6 

marks. Map should be tied with the answer sheet only. 
11. There are separate questions in lieu of question no 20 for visually impaired students. 



 

¼[k.M d Section A) 
Ikz-1 “kklu pykus esa foi{k ds usrk dh D;k Hkwfedk gksrh gS\       1 

What is the role of leader of opposition to run Government? 
Ikz-2 fuEufyf[kr esa ls dkSu 15oha & 16oha “krkCnh esa Hkkjr ds izeq[k lar jgas gSaa\     1 

d- cq)   [k-  egkohj   x- ckck xq: ukud  ?k- buess ls dksbZ ugha 

Who among the following has been a famous saint of India in fifteenth – sixteenth century? 
a. Buddha  b. Mahavir  c. Baba Guru Nanak  d. None of these 

Ikz-3 ljdkj usa ns”k esa vusd vk¡xuokM+h dsanz vkSj ckyokM+h ¼Øs”k½ [kksys gSaA vkids fopkj esa ;g lekt ls fyax vk/kkfjr 
HksnHkko dks LkekIr djus esa D;ksa lgk;d gS\         1 

The government has set up several Anganwadis and Chreches in the country. Why do you think that it may help 
in eradicating gender based discrimination from the society?  
Ikz-4 fuEufyf[kr dFku dks lgh djds fyf[k,A         1 

Lkqyg&dqy dh uhfr vcqy Qty }kjk pykbZ xbZA 

Correct the following statement. 
The policy of Sulh-E Kul run by Abul Fazal. 
Ikz-5 vkstksu ijr gekjs fy, egÙoiw.kZ D;ksa gS\         1 

Why is ozone layer important for us? 
Ikz-6 mPp Tokj eNyh idM+us ds fy, fdl izdkj lgk;d gksrk gS\      1 

How do high tides helpful in fishing? 
 

¼[k.M [k Section B) 
 

Ikz- 7 fuEufyf[kr dk feyku dhft,A          2 

D [k 
 Ik`Foh dh lrg ij ok;q dk nkc  Ikou 
mPp nkc {ks= ls fuEu nkc {ks= esa ok;q dh xfr lqukeh  
 Okk;qnkc 
 
Match the following Statements. 



A B 
The air Pressure on the Earth Surface  Wind 
The movement of air from high pressure area to low 
pressure area 

Tsunami  
 Air Pressure 
  

Ikz-8 ckWDl esa fn, x, “kCnksa dh lgk;rk ls fjDr LFkku dh iwfrZ dhft,A     2 

Ckkcj] tgk¡xhj] gqek;q¡] vkSjaxtsc 
a) vdcj ds firk --------------------- FksA 

b) eqxy lkezkT; dh LFkkiuk --------------- us dhA 

Fill in the blanks with the help of Box. 
Babur, Jahangir, Humayun, Aurangzeb  

 
a) …………………….. was Akbar’s father. 
b) Mughal dynasty was founded by ……. . 

Ikz-9 vius vkl&ikl ds fdlh ,d mnkgj.k ds ek/;e ls crkb, fd vkt efgyk,¡ fdl izdkj ySafxd foHkktu dks 
pqukSrh ns jgh gSa\            2 

How do women challenge the gender discrimination? Explain it with any one  example around you? 
Ikz-10 ,d dkYifud jkT; dh fo/kkulHkk dh fLFkfr uhps nh xbZ gSaA bls /;ku ls if<+, vkSj fuEufyf[kr iz”uksa ds mÙkj 
nhft,A               

d  [k 
LokfHkeku ikVhZ 110 
Hkwfeghu ikVhZ 02 
jk’Vªh; dkaxzsl 119 
Lka?kh; ikVhZ 01 
funZyh; 04 
Dqy 236 

a) cgqer ds fy, fdrus lnL;ksa dh vko”;drk gS\       1 

b)  nwljk lcls cM+k jktuhfrd ny dkSu &lk gS\       1 

Results of the Assembly Elections in an imaginary state are as follows. Study it carefully and answer the 
following. 

A B  
Swabhiman Party 110 
Bhumiheen Party 02 
Rashtriya Party 119 
Sanghiya Party 01 
Independent 04 
Total 236 

a) How many seats requires for Majority? 



b) Which is the second largest Political Party? 
 
Ikz- 11 fuEufyf[kr vuqPNsn dks i<+dj fn, x, iz”uksa dk mÙkj nhft,& 

dkcZu MkbZ&vkWDlkbM ok;qeaMy esa QSy dj i`Foh ls fodfjr Å’ek dks i`Foh ij jksddj xzhu gkml izHkko iSnk djrh 
gSA blfy, bls xzhu gkml xSl Hkh dgrs gSA vkSj blds vHkko esa /kjrh bruh BaMh gks tkrh  fd bl ij jguk vlaHko 
gksrkA 

a) xzhu gkÅl xSl fdls dgrs gS\          1 

b) xzhu gkÅl xSl ds vHkko esa D;k gksxk\         1 

Read the following passage and answer the following questions. 
Carbon dioxide released in the atmosphere creates a greenhouse effect by trapping the heat radiated from the 
earth.  It is therefore called a greenhouse gas and without it the earth would have been too cold to live in. 

a) What is greenhouse gas? 
b) What will happen if there is no greenhouse gas?  

¼[k.M x Section C) 
iz-12 Ckrkb, fuEufyf[kr dFku lR; gS vFkok vlR;A        3 

a)  lekt esa efgykvksa ds lkFk HksnHkko gksrk gSA 

b) Hkkjrh; lafo/kku fyaxHksn dks c<+kok nsrk gSA 

c) Hkkjr esa ?kjsyw dk;Z dks leku egRo fn;k tkrk gSA 

State whether the following statements are True or False. 
a) There is discrimination against women in the society. 
b) The constitution of India promotes gender discrimination. 
c) The household works are given equal importance in India. 

iz-13 fuEufyf[kr  esa ls fdlh ,d lar ds fo’k; esa laf{kIr ys[k fyf[k,A     3 

a) xq: ukud nso 

b) dchj 

c) ehjk 
Write a Brief note any one of the  following saints. 

a) Guru Nanak Dev 
b) Kabir 
c) Meera 

iz-14 fo/kk;d dkSu gksrk gS\ vius {ks= esa fo/kk;d }kjk djok, tkus okys fdUgha nks izeq[k dk;ksZa dk o.kZu dhft,A 3 

Who is an MLA? Mention any two works that are being done by the MLA in your area. 



 

Ikz- 15  fuEufyf[kr vuqPNsn dks i<+dj fn, x, iz”uksa dk mÙkj nhft,& 

D;k vki tkurs gS fd pk¡n ij ok;q ugha gS] vr,o ogk¡ ok;q nkc Hkh ugha gSA varfj{k ;k=h tc pk¡n ij tkrs gS] rks os 
fo”ks’k :Ik ls lqjf{kr gok ls Hkjh gqbZ varfj{k iks”kkd igurs gSaA  ;fn os bl varfj{k iks”kkd u igusa rks varfj{k ;kf=;ksa 
ds “kjhj }kjk foijhr cy yxus ds dkj.k mudh jDr f”kjk,¡ QV ldrh gSA ftlls varfj{k ;k=h jDrL+=kfor  gks 
ldrs gSA 

a) varfj{k ;k=h ;fn varfj{k iks”kkd u igus rksa D;k gksxk\      2 

b) D;k pk¡n ij ok;q nkc gSa\          1 

Read the following passage and answer the following questions. 
On the moon there is no air and hence no air pressure. Astronauts have to wear special protective space suits 
filled with air when they go to the moon. If they did not wear these suits, the counter pressure exerted by the 
body of the astronauts would make the blood vessels burst. The astronauts would bleed. 

a) What will happen if astronauts do not wear space suits? 
b) Is there air pressure on the moon? 

Ikz- 16  fuEufyf[kr vuqPNsn dks i<+dj fn, x, iz”uksa dk mÙkj nhft,& 

Eksg:fUulk us 1611 esa tgk¡xhj ls fookg fd;k vkSj mls uwjtgk¡ dk f[krkc feykA uwjtgk¡ ges”kk tgk¡xhj ds izfr 
vR;f/kd oQ+knkj jgh vkSj mldh le; & le; ij lg;ksx nsrh jghA uwjtgk¡ ds lEeku esa tgk¡xhj us pk¡nh ds flDds 
tkjh fd,] ftuesa ,d vksj mlds Lo;a ds f[krkc mRdh.kZ Fks vkSj nwljh vksj ;g okD;% *jkuh csxe uwjtgk¡ ds uke ls 
x<+k gqvk*A 

a) uwjtgk¡ dk vlyh uke D;k Fkk\         1 

b) pk¡nh ds flDds fdlds lEeku esa ykxw fd, x,\       1 

c) tgk¡xhj us Eksg:fUulk ls fookg dc fd;k\        1 

Read the following passage and answer the following questions 
Mehrunniasa married the Emperor Jahangir in 1611 and received the title Nur Jahan. She remained 
extremely loyal and supportive to the monarch. As a mark of honour, Jahangir struck silver coins bearing 
his own titles on one side and on the other the inscription “struck in the name of the Queen Begum, Nur 
Jahan”. 

a) What was the real name of Nur Jahan? 
b) In whose honour, silver coins were struck/ issued? 
c) When Jahangir married Mehrunnisa? 

Ikz-17 fuEufyf[kr vuqPNsn dks i<+dj fn, x, iz”uksa dk mÙkj nhft,& 

 Pkquko ds ckn LkÙkk/kkjh ny ds fo/kk;d vius usrk dk pquko djrs gS] tks eq[;ea=h curk gSA blds ckn 
eq[;ea=h] eaf=;ksa dk p;u djrk gSA pquko ds ckn jkT; dk jkT;iky eq[;ea=h vkSj vU; eaf=;ksa dh fu;qfDr 
djrk gSA Ekq[;ea=h rFkk vU; eaf=;ksa dk ;g nkf;Ro gS fd os “kklu ds fofHkUu foHkkxksa ;k ea=ky;ksa dks 



pyk,¡Amuds vyx & vyx dk;kZy; gksrs gSaA fo/kkulHkk ,slk LFkku gksrk gS tgk¡ lHkh fo/kk;d] pkgs os 
LkÙkk/kkjh ny ds gksa vFkok fojks/kh ny ds] fofHkUu fo’k;ksa ij ppkZ djus ds fy, ,df=r gksrs gSA bl rjg dqN 
fo/kk;kds dh nksgjh ftEesnkjh gks tkrh gS & ,d fo/kk;d ds :Ik esa vkSj nwljh ea=h ds :Ik esaA 

a) lÙkk/kkjh ny ds usrk fdl uke ls tkus tkrs gS\       1 

b) fo/kkulHkk esa D;k gksrk gS\          1 

c) eq[;ea=h vkSj vU; eaf=;ksa dh fu;qfDr dkSu djrk gS\       1 

Read the following passage and answer the following questions. 
After the elections, the MLAs belonging to the ruling party will elect their leader who will become the chief 
minister. The Chief minister then selects other people as ministers. After the elections, it is the Governor of 
the state who appoints the chief minister and other ministers.The chief minister and the other minister have 
the responsibility of running various government departments or ministries. They have separate offices. A 
legislative Assembly is a place where all the MLAs. Whether from the ruling party or from the opposition 
meet to discuss various things. Hence, some MLAs have dual responsibilities: one as MLA and the other as 
a minister. 
a) By what name, the leader of the ruling party known as? 
b) What happens at the legislature Assembly? 
c) Who appoints the Chief minister and other ministers? 
 

¼[k.M ?k Section D) 
Ikz-18 fuEufyf[kr vuqPNsn dks i<+dj fn, x, iz”uksa dk mÙkj nhft,& 

Lkksygoha “krkCnh esa ckck xq: ukud ds mÙkjkf/kdkfj;ksa ds usr`Ro esa muds vuq;kf;;ksa dh la[;k dk foLrkj gqvkA ;s 
vuq;k;h dbZ tkfr;ksa ds Fks] ijarq buesa O;kikjh] d̀’kd vkSj f”kYidkj T+;knk FksA bldh otg ;g gks ldrh gS fd ckck 
xq: ukud bl ckr ij cy fn;k djrs Fks fd muds vuq;k;h xg̀LFk gksa vkSj mi;ksxh o mRiknd is”kksa ls tqM+s gksaA 
vuq;kf;;ksa ls ;g vk”kk Hkh dh tkrh Fkh fd os u, leqnk; ds lkekU; dks’k esa ;ksxnku nsaxsaA Lk=goha “krkCnh ds izkjaHk 
ls dsanzh; xq:nkjk gjeanj lkgc ¼Lo.kZ eafnj½ ds vkl&ikl jkenkliqj “kgj ¼ve`rlj½ fodflr gksus yxk FkkA iz”kklu 
esa ;g oLrqr% Lok;r Fkk vk/kqfud bfrgkldkj bl ;qx ds flD[k leqnk; dks *jkT; ds varxZr jkT;* ekurk FkkA mlus 
1606 esa xq: vtZu dks e`R;qn.M nsus  dk vkns”k fn;kA l+=goha “krkCnh esa flD[k vkanksyu dk jktuhfrdj.k “kq: gks 
x;k] ftldk nwjxkeh ifj.kke ;g gqvk fd 1699 esa xq: xksfcan flag us [kkylk dh laLFkk dk fuekZ.k fd;kA *[kkylk 
iaFk* ds uke ls tkuk tkus okyk flD[k leqnk; vc ,d jktuSfrd lÙkk cu x;kA 

a) xq: ukud fdl ckr ij cy nsrs Fks\         1 

b) xq:}kjk  gjeanj lkgc ds vkl & ikl dkSu lk “kgj fodflr fd;k x;k\    1 

c) vuq;kf;;ksa ls D;k vis{kk dh tkrh Fkh\         1 

d) [kkylk iaFk dh LFkkiuk dc dh gqbZ\         1 

e) Ekqxy lezkV us fdl xq: dk Qkalh dh ltk nh\       1 

Read the following passage and answer the following questions. 



The number of Baba Guru Nanak’s followers increased through the sixteenth century under his successors. 
They belonged to a number of castes but traders, agruculturists, artisans and craftsmen predominated. This 
may have something to do with Baba Guru Nanak’s insistence that his followers must be householders and 
should adopt productive and useful occupations. They were also expected to contribute to the general funds 
of the community of followers. By the beginning of the seventeenth century the town of Ramsaspur 
(Amritsar) had developed around the central Gurdeara called Harmandar Sahib (Golden Temple). It was 
virtually self-governing and modern historians refer to the early- seventeenth- century Sikh community as ‘a 
state within the state.’ The Mughal emperor Jahangir looked upon them as a potential threat and he ordered 
the execution of  Guru Arjan in 1606. The Sikh movement began to get politicised in the seventeenth 
century, a development which culminated in the institution of the Khalsa by Guru Gobind Singh in 1699. 
The community of the Sikhs, called the Khalsa Panth, bcame a political entity. 
a) What was the insisted by Guru Nanak? 
b) Which city developed around Gurdwara Harmandar Sahib? 
c) What was the expected from the followers? 
d) When was the Khalsa Panth established? 
e) Who was executed by the Mughal Empire? 
Ikz- 19 fuEufyf[kr “kCnksa ij la{ksi esa fVIi.kh dhft,A      5 
a) {kksHke.My 

b) ok;qnkc 
c) iou 

vFkok 

iou D;k gS\ iou ds fofHkUu izdkjksa ds ckjs esa fyf[k,A 

Write a short note on the following. 
a) Troposphere 
b)  Air Pressure 
c) Wind 

OR 
What is Wind? Mention the different kinds of wind? 
 

¼[k.M M+ Section E) 
Ekkufp= dk;Z 

20.A.   Hkkjr ds jktuhfrd ekufp= esa A,B vkSj C rhu fcanqvksa vafdr fd, x, gSaA bu fcanqvksa dks ckWDl esa fn, x, 
LFkkuksa dh lgk;rk ls  igpkfu, vkSj muds lgh uke ekufp= ij [khpha x;h js[kkvksa ij fyf[k,A   

             1x3 = 3 
 caxky] ekyok] fnYyh] cjkj] fpÙkkSM+ 



 
20.B.  fo”o ds  js[kk ekufp= esa rhu egklkxj vafdr gaSA ckWDl esa fn, x, egklkxjksa ds uke  dh lgk;rk ls bUgsa 
igpkfu, vkSj  muds lgh uke ekufp= ij [khpha x;h js[kkvksa ij fyf[k,A      

             1X3 =3 
             

mÙkjh vVykafVd egklkxj] iz”kkar egklkxj] nf{k.kh vVykafVd egklkxj 
 

20.A Three places A,B and C  are marked on the outline political map of India, identify these places with 
the help of the box and write their correct names on the lines marked near them:    
     

Bengal,Malwa, Delhi, Berar, Chittor 
 

20.B Three oceans A,B and C are marked on the outline map of the world. Identify these oceans with help of 
the names given in the box and write their correct names on the line drawn on the map. 

North Atlantic Ocean, Pacific Ocean, South Atlantic Ocean 
 
fuEufyf[kr iz”u iz”u la[;k 20 ds LFkku ij dsoy n`f’Vckf/kr fo|kfFkZ;ksa ds fy, gSA 

a) eqxy lkezkT; dh LFkkiuk fdlus dh Fkh\ 

b) ok;qe.MYk dh lcls egRoiw.kZ ijr dk uke fyf[k, A 

c) dchj fdlds HkDr Fks\ 

d) Tokj & HkkVk ls vki D;k le>rs gS\ 

e) jktLFkku dhs ,d efgyk lar dk uke fyf[k,A 

f) vkbZus vdcjh fdlus fy[kh\ 

Following questions are only for visually impaired students in lieu of question no 20. 
a) Who were Mughals? 
b) Name the most important layer of atmosphere? 
c) Kabir was  the devotee of which deities? 
d) What do you mean by tides? 
e) Mention a female saint of Rajasthan. 
f) Who wrote the Ain I Akbari? 

 

 



 

 

 

 



 


